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-ﬂ 387933ma?n§3n!ﬁ?ﬁ%|
(Find the largest number that can be
formed by 3,8,7,9)
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-
(Q.2) T T A TR (ot
'H'U!ITJEI') % (Thetiearest resul® (in whole
q g numbers of the following expression is)

70 6 xloé 71x29z) 51x2
50x1()_ (st 2020)
75 30-S X
So >X20 1) 390
— 100 0 —Q)O- oo

=< — (2)290
(3) 209
@) 190
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0000

&c& 12 — WW%'
139 is the decumal equivalent of 12 = )
16)) OO 9, 1 (JNV 2022)

9 ¢ (1) 12.625

- ég\ Ig-;- QQ s (2) 12.6025

_ ? @ \}4) 12.0625

) (;3 (4) 12.0525
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(27x 5 + 31 x 5 x 10) & SPTE FI3F

AX9+| ) Ffman %

(The units digit\in t—ﬁe (27x 5 + 31 x 5 x 10))
is-)

35+ 0 Lt1) 5

3 3%) " (2)4

(3)3

(4) 0
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(Which of the followin ot
m)

m (4 NOV 23)

z (A 2 QT ﬂ@(s) —?rzrr -

“f\

24
L)<(C) ‘T 2t (D‘t—ﬁ_azrr{2 ?
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gna: —qﬁ?r :} vg AT 45000 F HT

P4~ 15000 3# W

¢ ém 55000
@ 2% A man purc ased a machine for Rs

A 45000 and later sold it at a profit of Rs 5000.

- - If he had sold that machine for Rs 55000, how
99 = 55000 much %dgre profit would he ha\EI%e made’)

oty g o W0
T.P = SR —Q.F _23000 (2)
emee —°9 &) 5000 &
[ 6GO ©

I8 FEHRI F AT 37 9T 7602310280 9T I HY




.,!Ns\! STATE ddIcd fagATIT 2026 FETT -6 New HEHAdT Batch Start

o Q.2DIf each side of a square is reduced to

@ _half of its original length, what will be the

)& new perimeter of the square?
frdl ot T TcqAF AT FT 3HAT

g o ¥ 3T & 154l one, ar aa
@ HT AT YRATT FIT gIEM?
st f“x@“' \_¢4) Half (31TeIT)

y :@ (B) One-Fourth (T& T1UTS)

~ ‘fX =t (C) Same (GHT=T)

(D) One third (T& TABTS)

IHOF FIEHF F T 37 daX 7602310280 9T IS Y
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20 Tuesdaly (HTeTaTo) %g%_}%, —;30Q

A}

S N Wednesday (51910

5,5 B = S04

a

6 Thursdhy CTEIN) %4% — 20
G [Frem G| o e

Saturday\?‘l‘ﬁ'ﬂT{’) ‘%’% =~ 3d

(A) 90 (B) 100 (C) 8 \{D) 80
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. 3
The measure of an angle is . of

9 40°. What is the measure of its
complementary angle? @T{:ﬁ I T AT

5 3
40° T &1 $HE T HIVT HT ATT FIT 52

\ A0 o
N O g

-4 ~—7 3%
@/ (C) 45°

(D) 20°
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\g . ’
/Q 'how many numbers are there which are

/% multiples of both 3 and 5?

= mzoommaﬁ##ﬁm?ﬁ
P %a’r33ﬁt®a’m’ra?r

5Xs @ &% " () 12

(C) 18
(B) 15
) 13

IHOF FIEHF F T 37 daX 7602310280 9T IS Y
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